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PARI A: STRUCTURf,S (30 MARKS)
tnstruclion: An$c. AIL qrcsrior3,

Ql (a) Reprcduce the fotlorins source codr in a Braphicat noarion fom

{
int i, sun = 0, ma*slSlUDENTsl;

for (i = 0; i < STUDENTS: i+)
sumrmers[ilr

avg=sum/STuDENTSi

'
(b) Runrime edorisone ofrhe pEsrammins cturtypes.

(D Explain brieily abour rhis lypcoferor, and

tii G !er eMmpleofrh scmr.

Q2 (a) Lin thft (3) co.vedion
proE@minc code.

sp<{ifch rnd rhE (1, logol o!€mroa in C

(b) T@slale the lollowinalomutr inro C codc.

wiic rhc cro6 Md tne coret code.(c) Anrlys the lollosins codc, $cn

linolu,le<rdio.h>
#defi.e PI3.14l59
int main (void)

{ 
'louble 

c, rj
scdfl {Agqlf, c,
Pl=c/i2t,;

t

r"+t'



Q3 (a) Lkt aou (4) typ€s of sel@tion structurcs.

C mskt
(b) Tmnsldrc rhe fotlowing $.remcn! ro lhc hos suibbteslection nruotuEcode.

CalculaE d +:6 rhen ( is SElrcr than 6, catcut!,c, -= z snen, isg ne rh.n a and display, is equt *irn, whci zdd, is

(c) Analysc the aollowing c.de and wrnc $e ou9ur.

{
inr a=1. b1 c=b-o, d=,, ct

t
@4:

prjlrli value a: 96d, , a)i
ces: b=b+;

plirtlti \nvalue b: ozd , bl;

pnntti-hvalue cr o/d, . c)l
as 7: d=b++, -ci

plinrt( $Value d: o/d ,d)i@3: e-d+- -b;
priD!,l walue ei o/d , e)i

pinrt(wrtue | 7d\n , d)l
I

)



Q4 ANws (a) lo G) baed o. below lmsmem c.de:

for(k=lik<=l0tk++)
I

ir (k==s)

sum+=ki

prjnn( su6 [9d]= o/dv",ls en);
)

G) Rewric thc above c.de using rr,/e slareeent 4d sitt prcducins L,re smc outpur

(b) Anallse on hol Epdnion srldurc in Q4 (a) pDduced rhe outpur.

(c) P6pose rhe mo$ suilable dpetilio! {ruclure rhar coutd be used for fic rotlowins
desciption, Civ. a rea$n.

Deslgn a proABm lh.r *itt rcp€aredly lcccp! marks as i.pur unlil



Q5 (!) TE.slaE the fotlowing slatenenr ro aundion pmror4€ in c cci.

(iii) whar is rhe rtpe or runction all used in lh. above code? cive a @n.

(c) Modir, lhe function code in Q5 (b) rd become ! funclion lhat nor dms any
lalue rnd display ih. !.lue of),

(D A aundion mlled @ieapls No inregcN a'8umenr and relurnsa floating-

(ii) A runcrio. €lrd rrz6lr a*prs a lona inlcger do reums a cna@k.

(iii) A funcrioi called Erlrr toceiles lro lort vatues and prints rhe
oullipliarion of rhoe valu6.

(b) Adsqd (t lo (iii) b6*d o..nalysis ofrhe fotlowinScode

4include<tdio.h>

{
inla.counli
td (counl = l;counr<=4;coum=counr+ I) I

a: tucrGou )j
Pinrftyod -. a);

)
l

i

I

(i) Rcwrire,=rti usi.s tudsd Darh libmry aurclion.



Q6 rar l,lusr6r. rf. arDDlp sra dk3mn ro,'mge me ro[o{In8 nrmbfh nMndrnS

43 22

(b) Analyse rhc roilowinscode and wncfieouFur

,include<rdio.h>

I
,nr tisr[6], ii

lor (i = 0; i<10; i+)
{

rislli] = 2 ' i+ 5j
if(iya - 0)

I i s r I i I = I i s I I i I _ I :
pnnn(.!/od\".linli]):

)

(o) Eshblish adeclaBriondd injtiatizdion of rwo dimensionat amys lor varioble /in
which hs 2 ows dd 3 cotunns bt usjng rh. ou9ul thar $as lbduc€rj by rh.
souc code in quesion Q6 (b).

Q7 (a) IllustBlo thc memoiy diacm ofara) rdrl and rar2 sftq cxeoules each line ol

charrxt|[ ]='ronor,, r.xr2lFMataysh";
nrpy0cxl I, texo);

(b) Use apprcpridte sLinB tunotions ro wriE a onptete c code in ode! to poduce

Yout m.ssge is chtracrca ldng

Entcrtournessgc: cood luck lo. iinat exam
Your mc$aCe is24 ch{Bcrc^ lo.g.



03 'ar BM M the lotklqin8 .ouE. code and odpd. dmw rhe p.inrn draBm rc

^hle rhe Ekr rcNhip d a.t s.idbt.,. tA$trde rdd€r ofpl is fa-.;d py j!

t

fie olrpuloffie pogEn iss foltows:

u=3 &u=F3E pu=tgli .pu=l
v=r &v=F8C pv=F8C ipv=l

(b) Answer (i) an'l (ii) brsed on implencnhlion ofrhc tb owing tiasficm code.

plinrli'\nurod &ujop pu=oop.pu=ood,, u, &u, pu, rDuJi
print('\n\nFood &r=oop pe=o.p rp!=qod,,.\. &\. p!, ip\li

I
inl lht[9] = {1,2.3,4,5,6.7,3,9), ij

lispr= &Un[o]i

ro(i=0ii<7;i+)
!rislptr= '(lisen+ i)i

)

(i) wriat is rh. cumnr elehenl ol my poim b, /n?, after exeure rhc /,/
lmp? And explain hos n ws poduce!?

(ii) Assume thar thc henory addre$ or fitsr €lemenl ot /,r{rj h 40O() and eeh
cell conhins a 4 blte inb. Whar is $e memory add€ss of tdation otpoinrer
/irr?t aner p€rfod rhe/ar lmp? Solve ir ad pove your answel



Q9 (a) Tnndale the rollosins slrcmenr ro lhe c ade,

Declarc a slructDe namcd pudo,at 6dsar lhat conlains ffre (5)
membe6: o nieger ft.o!,r,j e 8o{lcme.rs chaEcr.r my*pe6esm, z n ar.redir. a shcr ,a,. dp€deJ, lnd a flG!

(b) consrruol a adgncnr ol c codc by usine $rucrurc rhal produc.s rhe lollosinS

lleE h rhc suded infomaion:

17

BEE

BEE



Qro (r) Inrclpret coch lin. ofrhc rblrosing code.

rp= fopen('Ma&ahpe taj dr,lxt,, .8,,J;.

Ib) lmplncnr file p'w>'ng m.$d In rl.e tolo$ag \oh. (ode In,,der ro s\e dl
8pp.dr on .he compuh, {Rn inro tr rcN fitf nameJ

Nol.: In you, answ.r sipr. you coutd Drcvid. rie appropriare comcr C code
wrm @restondjng lin. nunb.r

I
2

5

3

ll
t2
ll
t5

20

22
23
24
25
26
21
23
29
l0
3l
t2
ll
l4
l5
36
31

)cDac[|001i

{

prinl( Enrcrnumber olEoord lo eve : );

$hile (ind.x<numbcr)
t

p.inr("\nEnlercDTnGq/od :, (in{iex+l);
ceqcD@[index].nm4:

prinl('3nler lD lor cD vdl : ', (index+ l)l
g.ls(cD8lindexl.id)i

)

pdndi \n\n%-25s%-l0s\n, CD ID, CD Titlc");

{
prinr( %-25s %- l0s \n ,cDr@lindexl.nmc, cdrcclindexl id)i

I

J



PAI|T B: PRODLf,M SOLVING (20 M^RKS)
rrslrudion: Atrser oNE (l)queriotr onty.

Qlr Wrne a onplerc c p@smo rhll qn create o cxi titc naned etedrohi.\.1rt. Tnepollm rquned !h. user io . er lh.i inrorution ed rcsisrofs cotolr numb.u (rcf.r
bbl. Ql l) b display 6e cotou codc. Thcn a[ lhc &r! nusr be ev.d insidc lh; fite
r/ccrrcrr?rdr The ourpd leK fik shoutd conrjn the to osinA dala 6 exmpic.
Not.: You pDgEm nusl us poinler, sdcruE sd fite prMsyn8 @m,que,

Ndq Mohahcd AndEs

R6isiofs colournumbe^:4 t 2
Resisloasolour oodc h: Ycltor

I
2
l
! l4llel



Qt2 wrire a complele c pDerm thar can crcalc a rext filc nded / erynol,trt lhe pft€ran
rcqdiFdrhe u{roe kr5!drone^ de'rdd.ountr} todetrcre,,,otcet2r r;d,_po)
lhetounrq rmc.Ihenot,dedobmdqbe.oreo r\iderhefitcfs.,,atr,r. t,.ori.p"r
tei fi|. should conbi. the totlowing da6,.sc@pt..
Note: Your prcgEm bun E poinrer. $octuE dd fite pde$ing rehnique.

Table Ql2: Counrry Cdde.d Nrm.

2
l


